
CPE355 - Real time embedded kernels - Spring’11

Prof. Nuno Alves (nalves@wne.edu), College of Engineering 

Homework Assignment #2

Due date: Thursday, January 27th 2012

Homework turned in after the deadline, will not be graded.

1) What does the following circuit do?

 

2) What does the following circuit do?

3) What does the following circuit do? Why would you ever do this? Which configuration is the 

most desirable in a computer architecture and why?
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4) Look at the following circuit. The idea is that the circuitry on the left side is always running, 

but the circuitry on the right side gets 

turned on and off, using the switch, from 

time to time in order to save some power.  

The capacitor shown in the middle of the 

diagram is to cushion the voltage when the 

switch is closed. What is wrong with this 

design? What are the symptoms most likely 

be? How should it be fixed?

5.a) How does the following circuit solve the loading problem?

b) How does the circuit on part a)  compare to the following circuit?

6) What does the timing diagram looks like for a static RAM cell. Remember to include a read 

and write operation. Hint: Static RAM parts look much like ROM parts, except that they have a 

write enable signal.
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